## Unique Auctions Catalogue 01 Feb 2017

- 1 An extending double pedestal dining table with one extra leaf £20.00 £30.00
- 2 A green wicker bedroom or patio chair £8.00 £10.00
- 3 A white Lloyd loom style chair £8.00 £10.00
- 4 A green Lloyd loom chair with sprung seat £8.00 £10.00
- 5 A metal and wood garden bench £20.00 £30.00
- 6 A quantity of electric heaters £10.00 £20.00
- 7 A metal and wood garden bench £20.00 £30.00
- 8 A good lot of garden tools, workbench etc £10.00 -£20.00
- 9 A pine bedstead complete with slats £20.00 -£30.00
- 10 A golf bag and clubs £20.00 £30.00
- 11 A step ladder and a stainless steel sink top £10.00 £20.00
- 12 A garden table and chairs £10.00 £20.00
- 13 A garden spreader £5.00 £10.00
- 14 A quantity of boiler and central heating spares £10.00 £20.00
- 15 An oak corner cabinet with lead glazed door £20.00 £30.00
- 16 A new boxed Urban Collection Brooklyn desk £10.00 - £20.00
- 17 A rustic oak table £10.00 £20.00
- 18 A wheelbarrow and garden tools £10.00 £20.00
- 19 A travel cot £10.00 £20.00
- 20 A good set of suitcases £8.00 £10.00
- 21 An Indesit washing machine £20.00 £30.00
- 22 A Hotpoint tumble drier £20.00 £30.00
- 23 A Nova duel fuel cooker £20.00 £30.00
- 24 A large quantity of vintage cinema seats £20.00 £30.00
- 25 A mahogany Inlaid wardrobe £40.00 £60.00
- 26 A drop leaf tea trolley £10.00 £20.00
- 27 A little used cylinder vacuum cleaner in good clean condition and with attachments £20.00 £30.00
- 28 An electric floor polisher (sold as seen) £10.00 £20.00
- 29 A box of miscellaneous bathroom and other items £5.00 £10.00
- 30 A quantity of wall mirrors £10.00 £20.00
- 31 A spinning rod, a fly rod and 3 specimen rods £10.00 £20.00
- 32 An oak framed 'Bubbles' print £10.00 £20.00
- 33 3 floral pictures £10.00 £20.00

- 34 An old sack truck £15.00 £20.00
- 35 A pine desk £10.00 £20.00
- 36 A pair of framed and glazed Victorian prints £10.00 £20.00
- 37 2 green folding garden seats £5.00 £10.00
- 38 A Vax vacuum cleaner £20.00 £30.00
- 39 An oak side table and a bedside cabinet £10.00 £20.00
- 40 Approximately 200 DVD's £20.00 £30.00
- 41 A mahogany effect wall unit £20.00 £30.00
- 42 4 table lamps £10.00 £20.00
- 43 2 oak biscuit barrels £10.00 £20.00
- 2 animal ornaments and 2 small brass items £8.00 - £10.00
- 45 A mixed lot of toys £10.00 £20.00
- 46 A new boxed Cookworks 3 tier steamer and a Tesco iron £10.00 £20.00
- 47 A mixed lot of sewing items £10.00 £20.00
- 48 A quantity of children's books £10.00 £20.00
- 49 A mixed lot of kitchen ware etc £20.00 £30.00
- 50 A large colourful triple print £10.00 £15.00
- A set of 3 canisters, a porcelain doll, a doll's chair and a fire guard £10.00 £20.00
- 52 A quantity of Star Wars memorabilia including 199 day to day calendar, magazines, annuals, trading cards etc £20.00 £30.00
- 53 A mixed lot of cottages, teapots etc £10.00 £20.00
- 54 A pine framed mirror £10.00 £20.00
- 55 A metal deed box £10.00 £20.00
- 56 A cane table £10.00 £20.00
- 57 An oak wall clock £10.00 £20.00
- 58 An oak corner cabinet £20.00 £30.00
- 59 A gilt framed mirror £10.00 £20.00
- 60 A painted towel rail and stool £8.00 £10.00
- A mahogany fold over tea table £20.00 £30.00
- 62 A quantity of boxed LP record sets £8.00 £10.00
- 63 A David Shepherd elephant print £10.00 £20.00
- 64 A mahogany effect corner cabinet £20.00 £30.00
- 65 A 19th century copper kettle £15.00 £20.00
- 66 A nest of 3 teak tables £15.00 £20.00
- 67 2 gilt framed oil paintings £10.00 £20.00
- 68 A copper warming pan £10.00 £20.00
- 69 An oil of board of a crane in flight signed B Cox £10.00 £20.00
- 70 A boxed electric impact drill (used) £10.00 £20.00
- 71 A wicker linen bin £5.00 £10.00

1

- 72 An oil on board signed Ken Rose '85 £10.00 £20.00
- 73 A mahogany torchere on tripod base £20.00 £30.00
- 74 A mixed lot of wooden boxes, treen etc £10.00 £20.00
- 75 A gilt framed continental scene oil on board painting £10.00 £20.00
- 76 A quantity of die cast toys including Corgi and Matchbox £20.00 £30.00
- 77 A mixed lot of pottery, china and glass £10.00 £20.00
- 78 5 duck ornaments £20.00 £30.00
- 79 2 sets of lawn bowls £20.00 £30.00
- 80 An Action Man style helicopter £10.00 £20.00
- 81 An 8 piece musical teddy bear band with certificates £20.00 £30.00
- 82 2 cased cutlery sets £5.00 £10.00
- 83 A quantity of boxed board games £10.00 £15.00
- A mixed lot of watercolours in albums, paints etc £20.00 £30.00
- 85 A quantity of dark glass bottles £10.00 £20.00
- 86 2 shelves of Lilliput Lane cottages £20.00 £30.00
- 87 A box of CD's and DVD's £10.00 £20.00
- 88 2 vintage telephones £10.00 £20.00
- 89 A quantity of Johnson brothers tea and dinner ware £10.00 £20.00
- 90 A mixed lot of vases etc £8.00 £10.00
- 91 A pair of Shelley vases a/f, A quantity of blue and white including Wedgwood, Doulton etc and an early strawberry teapot £10.00 £20.00
- 92 A mixed lot of red glass £10.00 £20.00
- 93 A coin counter £10.00 £20.00
- 94 A box of flags £10.00 £20.00
- 95 A Panda, a deer group, a Doulton pot and a Doulton jug £10.00 £20.00
- 96 A mahogany inlaid clock £20.00 £30.00
- 97 A mixed lot of condiment and other glass items £10.00 £20.00
- 98 3 pairs of binoculars and an instant camera £20.00 £30.00
- 99 A mixed lot of aeronautical items etc £10.00 £20.00
- 100 2 Bosson's figures and an Italian figure £10.00 £20.00
- 101 A mixed lot of wooden items £10.00 £20.00
- 102 A mitre saw and a vintage micrometer £20.00 £30.00
- 103 A blue glass decanter and a blue glass vase £10.00 £20.00
- 104 5 bottles of wine and a bottle of sherry £10.00 -

£20.00

- 105 A quantity of tankards and hip flasks £10.00 £20.00
- 106 A quantity of unused jewellery boxes £10.00 £20.00
- 107 A mixed lot of Royal Albert Old Country Roses (clock not working) £20.00 £30.00
- 108 A mixed lot of brass and copper £10.00 £20.00
- 109 A small safe £10.00 £20.00
- 110 A box of tools £10.00 £20.00
- 111 A vintage style telephone £10.00 £20.00
- 112 A Pendelfin gypsy caravan £10.00 £20.00
- 113 A mixed lot of silver plate £10.00 £20.00
- 114 2 studio pottery items £10.00 £20.00
- 115 A quantity of children's and commemorative china £10.00 £20.00
- 116 An elephant figure £10.00 £15.00
- 117 A quantity of American Marvel comics £10.00 £20.00
- 118 A cast iron dachsund dog boot scraper £10.00 £20.00
- 119 A tool box and tools £20.00 £30.00
- 120 2 shelves of Lilliput Lane cottages £20.00 £30.00
- 121 A shelf of brass and copper £10.00 £20.00
- 122 A shelf of glass ornaments £10.00 £20.00
- 123 A large collection of old beer mats £15.00 £20.00
- 124 A box of assorted neck ties £10.00 £20.00
- 125 A shelf of decanters and glasses £10.00 £20.00
- 126 A 2 person Carlton ware tea set £20.00 £30.00
- 127 2 silver plate trays and a silver plated tea service £15.00 £20.00
- 128 A shelf of souvenir pottery £10.00 £20.00
- 129 A shelf of books £10.00 £20.00
- 130 A box of CD's £10.00 £20.00
- 131 2 chamber pots etc £10.00 £20.00
- 132 A champagne bucket, cocktail shaker, ice bucket and 2 optics £10.00 £20.00
- 133 A boxed 20 piece blue and white dinner set £10.00 £20.00
- 134 A 15 piece china tea set £20.00 £30.00
- A blue and white meat platter, a child's cutlery set, crystal glass sugar sifter etc £10.00 £20.00
- 136 A set of scales and weights £10.00 £20.00
- 137 A quantity of coloured glass trinket trays etc £20.00 £30.00
- 138 2 sets of stocks and dies £20.00 £30.00
- 139 A shelf of decanters and glasses £10.00 £20.00
- 140 A mixed lot of jewellery boxes etc £10.00 £20.00
- 141 A set of 6 fish knives & forks and other plated

2

|     | cutlery £10.00 - £20.00  |
|-----|--|
| 142 | A quantity of vintage film reels and audio reels £10.00 - £20.00   |
| 143 | A mixed lot of brass ware £10.00 - £20.00  |
| 144 | 3 plastic storage boxes £5.00 - £10.00   |
| 145 | A metal and brass coal box £20.00 - £30.00   |
| 146 | A quantity of vintage Lilliput magazines, circa 1940/50's £10.00 - £20.00                                |
| 147 | A Singer sewing machine £10.00 - £20.00  |
| 148 | 2 silver plate trays, cutlery etc £10.00 - £20.00  |
| 149 | 4 stoneware and a copper hot water bottle £10.00 - £20.00  |
| 150 | A large lidded jar £15.00 - £20.00   |
| 151 | A musical inlaid sewing table £10.00 - £20.00  |
| 152 | 2 framed and glazed silhouettes and a framed and glazed miniature portrait £20.00 - £30.00 $$            |
| 153 | A quantity of Lakeland Studios, Rington's cottages etc £10.00 - £20.00                                   |
| 154 | 2 trays, a table and a stools £10.00 - £20.00  |
| 155 | An egg crock in the form of a pheasant (a/f) £10.00 - £20.00   |
| 156 | 2 model cars a/f £10.00 - £20.00   |
| 157 | A new outdoor wall lantern £10.00 - £20.00   |
| 158 | 24 pieces of Denby tea ware £10.00 - £20.00  |
| 159 | A waxed pine writing box with brass fittings £20.00 - £30.00 $$  |
| 160 | A mixed lot of table ware including fondue set, hors d'ouvre dishes, food warmers etc £20.00 - £30.00    |
| 161 | An oak coffee table £10.00 - £20.00  |
| 162 | A 9 piece tool pack £10.00 - £20.00  |
| 163 | 2 boxes of Lego £10.00 - £20.00  |
| 164 | A mixed lot of glass including decanters £10.00 - £20.00   |
| 165 | 11 boxed Lilliput Lane cottages £20.00 - £30.00  |
| 166 | A 19th century blue and white tobacco jar (missing liner and chip to base) £10.00 - £20.00               |
| 167 | A large Capo di Monte figure of a tramp on a bench £10.00 - £20.00                                       |
| 168 | A brass tray, brass toasting fork and other items £10.00 - £20.00  |
| 169 | A good mixed lot of silver plate including tea sets, utensils etc (3 shelves in cabinet) £20.00 - £30.00 |
| 170 | A mixed lot of costume jewellery including silver £10.00 - £20.00  |
|     |  |

KKW camera lighter £20.00 - £30.00 175 A mixed lot of necklaces and bracelets £10.00 -£20.00 176 A mixed lot including pen knives £10.00 - £20.00 A Lincoln City signed football £20.00 - £30.00 177 A miniature Retford Cricket Club signed cricket 178 bat £10.00 - £20.00 179 A jewellery box containing costume jewellery and compacts £10.00 - £20.00 180 A mixed lot of jewellery including 2 crystal necklaces £10.00 - £20.00 181 A mixed lot of glass including inkwells, cruet, salts etc £10.00 - £20.00 182 A mixed lot of pens including cases Shaeffer, dip pens etc £10.00 - £20.00 183 A tin containing foreign coins and bank notes £10.00 - £20.00 184 A cut glass decanter with a silver label £10.00 -£20.00 185 A quantity of small bone and ivory items £10.00 -£20.00 A Staffordshire jug dated 1850 £10.00 - £20.00 186 187 A small oil on board painting of Montmartre £10.00 -£20.00188 2 ornamental Ghurka knives £10.00 - £20.00 A quantity of UK coins £10.00 - £20.00 189 190 A Smith's pocket watch and an Ingersol pocket watch £10.00 - £15.00 191 A book entitled 'Partridges Three Discourses' on preachings by Rev. Samuel Partridg MA, vicar of Boston, 1809 £10.00 - £20.00 A mixed lot of world coins £10.00 - £20.00 192 A mixed lot including railway buttons, whistles, 193 thimbles, pen knives, white metal oriental plaque etc £20.00 - £30.00 A box of pocket watch parts £10.00 - £20.00 194 195 In excess of 250 un-adressed Isle of Man first day covers from July 1973 to January 2001 and other Isle of Man postal interest including P.D.Q. cards in 4 albums £50.00 - £60.00 A quantity of tokens and medallions £10.00 -196 £20.00 197 A quantity of old tins and trinket boxes £10.00 -£20.00 198 A mixed lot including tools, pen knives, tea cards etc £10.00 - £20.00 199 In excess of 80 ladies quartz wrist watches £10.00 - £20.00 A quantity of French coins £10.00 - £20.00 200 201 200 LNWR railway official post cards £20.00 -£30.00

A cased sewing machine £10.00 - £20.00

2 glass paperweights and 2 tankards £10.00 -

A modern brass carriage clock £20.00 - £30.00

A mixed lot including cuff links, lighter, pens etc

202

3

171

172

173

£20.00

£10.00 - £20.00

| 203        | 2 large boxes of auction catalogues £10.00 -   | 239 | A water feature lamp £10.00 - £20.00  |
|------------|--|-----|---|
|            | £20.00   | 240 | A brass oil lamp £10.00 - £20.00  |
| 204<br>205 | A radio, toaster etc £10.00 - £20.00<br>A box of LP records £10.00 - £20.00                  | 241 | A trout rod and bag of accessories, reels, flies etc £10.00 - £20.00  |
| 206        | A liquidiser and a kettle £10.00 - £15.00  | 242 | A wall clock, a/f £10.00 - £20.00   |
|            | ·  |     | ·   |
| 207<br>208 | A quantity of linen and throws £10.00 - £20.00  A stool with embroidered top £10.00 - £20.00 | 243 | A large collection of Marilyn Monroe memorabilia including CD's, Calendars, books, bags, plates etc £10.00 - £20.00 |
| 209        | 15 pieces of Victorian dinner ware and a carnival glass dish £10.00 - £20.00                 | 244 | A quantity of novelty decanters and scent bottles £10.00 - £20.00   |
| 210        | 3 meat platters and 3 matching tureens £10.00 - £20.00                                       | 245 | An occasional table £8.00 - £10.00  |
| 211        | A vintage desk lamp £10.00 - £20.00  | 246 | 4 fishing reels including Corsair, Diawa etc and 2  |
| 212        | A cased Panasonic digital video camera £20.00 - £30.00                                       |     | spare spools £10.00 - £20.00  |
|            |  | 247 | A new fire front £10.00 - £15.00  |
| 213        | A silver plate candlebra, teapot and 2 other items £10.00 - £20.00                           | 248 | 3 good cushions £5.00 - £10.00  |
|            |  | 249 | 2 kitchen chairs and a stool £10.00 - £15.00  |
| 214        | An occasional table £8.00 - £10.00   | 250 | A Silver Reed portable typewriter £10.00 - £20.00   |
| 215        | An oil lamp and a tin plate globe £10.00 - £20.00  | 251 | A large box of plastic piping £10.00 - £20.00   |
| 216        | A desk top book rack £10.00 - £20.00   | 252 | 3 boxes of plumbing items £10.00 - £20.00   |
| 217        | Approximately 100 poster, film and music including Coldplay, MGM, the BFG etc £20.00 -       | 253 | A quantity of bed linen etc, some new £10.00 - £20.00   |
| 218        | £30.00 An oval extending dining table and 5 chairs £20.00                                    | 254 | Approximately 200 classic LP records and 10 box sets £20.00 - £30.00  |
|            | - £30.00   | 255 | A Sanyo HD television £20.00 - £30.00   |
| 219        | 48 pieces of Royal Stafford tea and dinner ware  | 256 | 4 walking sticks and an umbrella £10.00 - £20.00  |
| 000        | £20.00 - £30.00  | 257 | 17 pieces of Portmerion pottery £20.00 - £30.00   |
| 220        | A Corby 5000 electric trouser press £10.00 - £20.00  | 258 | A painted bedside cabinet £8.00 - £10.00  |
| 221        | A wicker bedroom chair £5.00 - £10.00  | 259 | A quantity of books and maps on Lincolnshire  |
| 222        | 2 boxes of LP records £10.00 - £20.00  |     | £20.00 - £30.00   |
| 223        | 2 boxes of miscellaneous £10.00 - £20.00   | 260 | 2 wicker baskets including fishing creel £10.00 -   |
| 224        | A box of LP records £10.00 - £20.00  |     | £20.00  |
| 225        | A box of CD's and audio books £10.00 - £20.00  | 261 | A large quantity of children's toys and games £20.00 - £30.00   |
| 226        | A wooden high chair £20.00 - £30.00  | 262 | A single chair £5.00 - £10.00   |
| 227        | 2 modern chandelier style ceiling lights (plastic  | 263 | An adjustable gout stool £10.00 - £20.00  |
| 221        | droppers) £10.00 - £20.00  | 264 | A set of 4 kitchen chairs £10.00 - £20.00   |
| 228        | 2 decanters and other glass ware £10.00 - £20.00   | 265 |   |
| 229        | A CD rack and CD's £10.00 - £20.00   | 200 | 2 pieces of stained and leaded glass, a/f £20.00 - £30.00   |
| 230        | 3 wooden boxes £10.00 - £20.00   | 266 | 200 assorted LP and 12" albums £20.00 - £30.00  |
| 231        | A clothes horse and a smokers stand £10.00 -   | 267 | A circular saw, drill etc £30.00 - £40.00   |
|            | £15.00   | 268 | 100 12" albums £10.00 - £20.00  |
| 232        | A Tevion car CD / MP3 player £10.00 - £20.00   | 269 | 2 boxes of old books £10.00 - £20.00  |
| 233        | A copper coal scuttle and a brass companion set £10.00 - £20.00                              | 270 | A vintage microfiche machine, (slides in cabinet) £20.00 - £30.00   |
| 234        | A mahogany occasional tabale £10.00 - £20.00   | 271 | A mixed lot of brass and copper £10.00 - £15.00   |
| 235        | A heavy brass urn £10.00 - £20.00  | 272 | A Sony MP3 player £10.00 - £20.00   |
| 236        | 2 card index boxes £8.00 - £10.00  | 273 | A pine record cabinet £10.00 - £20.00   |
| 237        | A mixed lot of photographic equipment including camera's, tripod etc £20.00 - £30.00         | 274 | A set of 3 graduated jugs and a teapot £10.00 -   |
| 238        | A magazine rack £10.00 - £20.00  | 275 | £20.00<br>10 boxed Lilliput Lane cottages £20.00 - £30.00   |
|            |  |     |   |

| 276        | A quantity of film posters £10.00 - £20.00                                   | 315 | A pillar drill £20.00 - £30.00  |
|------------|--|-----|---|
| 277        | A tripod table and a pouffe £10.00 - £20.00                                  | 316 | 4 boxes of LP records £20.00 - £30.00   |
| 278        | A music centre and cassette tapes £10.00 -                                   | 317 | A fish tank £20.00 - £30.00   |
| 279        | £20.00 A signed England photograph with 9 signatures                         | 318 | A box of books including graphic novels and books on Hull £10.00 - £20.00                       |
|            | £10.00 - £20.00  | 319 | 2 boxes of records £10.00 - £20.00  |
| 280        | 15 pieces of Studio dinner ware £10.00 - £20.00                              | 320 | A leather saddle £20.00 - £30.00  |
| 281        | A large vase containing umbrellas £10.00 - £20.00                            | 321 | A box and a case of records £10.00 - £20.00   |
| 282        | A 19th century black marble mantel clock £30.00 -                            | 322 | A brass fender £10.00 - £20.00  |
| 283        | £40.00<br>A cased violin £10.00 - £20.00                                     | 323 | 2 boxes of children's books including Enid Blyton   |
|            |  |     | the Famous Five, Rupert annuals etc £20.00 - £30.00   |
| 284<br>285 | A 22 piece china tea set £10.00 - £20.00<br>A 5 drawer chest £10.00 - £20.00 | 324 | 2 music stands £10.00 - £20.00  |
|            |  | 325 | A quantity of framed paintings and prints £10.00 -  |
| 286<br>287 | A quantity of old tins £10.00 - £20.00<br>3 porcelain dolls £10.00 - £12.00  | 323 | £20.00  |
| 288        | A chenille table cloth and a quilt £10.00 - £20.00                           | 326 | A pair of African scenes £10.00 - £20.00  |
| 289        | A box of books £5.00 - £10.00  | 327 | A mixed lot of glass ware including lamp shade,   |
| 290        | An oak table £10.00 - £20.00   |     | Whitefriars style etc £10.00 - £20.00   |
| 291        | A brass floor standing adjustable reading lamp                               | 328 | A 28" flat screen television with Sky plus HD box £20.00 - £30.00                               |
| 202        | £10.00 - £20.00  | 329 | A quantity of ceramic ladels £10.00 - £20.00  |
| 292<br>293 | A revolving office stool £10.00 - £20.00                                     | 330 | A mixed lot of miscellaneous china and glass  |
| 293<br>294 | A roll of thick black floor/wall covering £10.00                             |     | ware including novelty storage jars, Murano glass vase etc £15.00 - £20.00                      |
| 294        | A roll of thick black floor/wall covering £10.00 - £20.00                    | 331 | 3 framed tapestries £20.00 - £30.00   |
| 295        | A box of sewing and knitting items £10.00 - £20.00                           | 332 | A mahogany framed mirror and a gilt framed mirror   |
| 296        | 3 boxes of plumbing items £10.00 - £20.00                                    | 002 | £20.00 - £30.00   |
| 297        | A robot and robot magazines etc £10.00 - £20.00                              | 333 | A mixed lot of pottery and china including Denby  |
| 298        | A box of plumbing items £10.00 - £20.00                                      |     | £10.00 - £20.00   |
| 299        | A modern wall clock £10.00 - £20.00  | 334 | A vintage adding machine £10.00 - £20.00  |
| 300        | A mixed lot of silver plate £10.00 - £20.00                                  | 335 | An upholstered stool £8.00 - £10.00   |
| 301        | A pair of framed and glazed pictures £10.00 -                                | 336 | A 32" flat screen television £20.00 - £30.00  |
| 302        | £20.00 An album of postcards, old newspapers etc                             | 337 | A mixed lot of brass and copper ware £10.00 - £20.00  |
| 303        | £10.00 - £20.00 A stoneware jug and other stoneware items                    | 338 | A framed and glazed Robin Starch advert and a racing print £20.00 - £30.00                      |
|            | £10.00 - £20.00  | 339 | A quantity of Portmerion pottery £20.00 - £30.00  |
| 304        | A quantity of Pyrex dishes £5.00 - £10.00                                    | 340 | A massive teak bowl (from Barbados) £20.00 -  |
| 305        | A hall ceiling light £10.00 - £20.00   |     | £30.00  |
| 306        | 3 framed and glazed prints £10.00 - £20.00                                   | 341 | 2 framed and glazed engravings 'The Cast Shoe' after G H Mason and a child playing with puppies |
| 307        | A quantity of blue and white plates and jugs £10.00 - £20.00                 | 342 | £10.00 - £20.00  A pair of Laurel and Hardy dolls with porcelain                                |
| 308        | A vintage milk churn £10.00 - £20.00   | 342 | heads £10.00 - £20.00   |
| 309        | A Masonic apron in case £8.00 - £10.00                                       | 343 | A quantity of blue and white plates and green and   |
| 310        | A Singer sewing machine £10.00 - £20.00                                      |     | white dinner ware £10.00 - £20.00   |
| 311        | A large quantity of digital cameras £20.00 - £30.00                          | 344 | An oak framed and glazed print £10.00 - £20.00  |
| 312        | 3 framed and glazed religious prints £10.00 -                                | 345 | A mixed lot of glass ware £10.00 - £20.00   |
|            | £20.00   | 346 | A modern glass topped desk £20.00 - £30.00  |
| 313        | A modern music cabinet £10.00 - £20.00                                       | 347 | An armchair £10.00 - £20.00   |
| 314        | A revolving arm chair £10.00 - £20.00  | 348 | A box of tools £10.00 - £20.00  |

5

| 349 | A red patterned rug and one other £10.00 - £20.00   | 383 | A small hall chandelier £10.00 - £20.00  |
|-----|---|-----|--|
| 350 | An oak dressing table £10.00 - £20.00   | 384 | A quantity of prints on canvas £8.00 - £10.00                                  |
| 351 | A mixed lot of china and glass including Sadler   | 385 | A marble topped pot cupboard £20.00 - £30.00                                   |
|     | teapot set, Caithness, Prinknash etc £10.00 - £20.00  | 386 | A mahogany Pembroke table £30.00 - £40.00                                      |
| 352 | An elbow chair and a wall shelf £10.00 - £20.00   | 387 | A 1950's stool marked 'ER Coronation' £20.00 - £40.00                          |
| 353 | A 2 over 3 oak chest of drawers with brass handles £30.00 - £40.00                            | 388 | 2 vintage croquet hammers £10.00 - £20.00                                      |
| 354 | 2 chairs £5.00 - £10.00   | 389 | A rocking horse, doll's pushchair and doll's cot with contents £10.00 - £20.00 |
| 355 | 2 suitcases £5.00 - £10.00  | 390 | 2 old kitchen chairs £10.00 - £20.00   |
| 356 | A 1930's wardrobe £20.00 - £30.00   | 391 | 2 oak side tables with Queen Anne style legs                                   |
| 357 | A large good quality throw £20.00 - £30.00  |     | £10.00 - £20.00  |
| 358 | A 2 seat sofa £20.00 - £30.00   | 392 | A vintage hair dryer £10.00 - £20.00   |
| 359 | A teak dressing table £20.00 - £30.00   | 393 | A pine single pedestal desk £15.00 - £20.00                                    |
| 360 | A large box of lego £10.00 - £20.00   | 394 | A vintage throw £10.00 - £20.00  |
| 361 | A good quality centre pedestal oak dining table   | 395 | A tin cabin trunk £10.00 - £20.00  |
|     | £20.00 - £30.00   | 396 | A 2 drawer television stand £10.00 - £20.00                                    |
| 362 | A set of 6 chairs comprising 2 carvers and 4 dining   | 397 | A microwave oven £10.00 - £20.00   |
| 000 | £20.00 - £30.00   | 398 | A white 4 drawer chest £10.00 - £20.00   |
| 363 | 2 19th century family Bibles, a/f £10.00 - £20.00   | 399 | Approximately 34 pieces of 19th century blue and                               |
| 364 | A metamorphic buffet table £20.00 - £30.00  |     | white tea ware £20.00 - £30.00   |
| 365 | A brass oil lamp with etched glass shade £20.00 - £30.00                                      | 400 | An Elizabethan style dolls house £20.00 - £30.00                               |
| 366 | A tall modern table lamp with globe shade £10.00 - £20.00                                     | 401 | A gilt framed dressing room mirror with built in lights £20.00 - £40.00        |
| 367 | 4 lidded pots etc £10.00 - £15.00   | 402 | A mahogany jewellery display table £40.00 - £60.00                             |
| 368 | A mahogany octagonal occasional table with galleried base (gallery a/f) £20.00 - £30.00       | 403 | A small mahogany inlaid fold over games table £40.00 - £60.00                  |
| 369 | A diorama of exotic birds under glass dome £60.00 - £80.00                                    | 404 | A gold coloured bedroom chair £10.00 - £15.00                                  |
| 370 | A cased black pheasant £60.00 - £80.00  | 405 | A wooden standard lamp with shade £10.00 -                                     |
| 371 | An oak tea trolley £10.00 - £20.00  | 400 | £20.00   |
| 372 | A Black and Decker hedge trimmer and a shooting stick £15.00 - £20.00                         | 406 | A 19th century black marble mantel clock £40.00 - £60.00                       |
| 272 |   | 407 | A mahogany drop leaf table £20.00 - £30.00                                     |
| 373 | A green glass bell with clear glass handle and a quantity of coloured glasses £10.00 - £20.00 | 408 | A 19th century copper coal scuttle £20.00 - £30.00                             |
| 374 | A table lamp in the form of a cockerel in metal and glass £20.00 - £30.00                     | 409 | A brass and iron fender and a set of brass fire irons £30.00 - £40.00          |
| 375 | A small oak gate leg table £20.00 - £30.00  | 410 | A black leather reclining 3 seat sofa and chair £40.00 - £60.00                |
| 376 | 2 framed and glazed embroidered pictures £8.00 -  | 411 | A red leather 2 seat sofa £20.00 - £40.00                                      |
|     | £10.00  | 412 | A 2 seat brown leather sofa £20.00 - £40.00                                    |
| 377 | A carved hard wood Chinese stool £20.00 - £40.00  | 413 | A good 3 seat reclining black leather sofa £40.00 -                            |
| 378 | A carved Hard wood Chinese stool £20.00 - £40.00  |     | £60.00   |
| 379 | A brass pestle and mortar, a brass chamber candlestick and 2 horse brasses £10.00 - £20.00    | 414 | A 2 seat red leather sofa £20.00 - £40.00                                      |
| 380 | An oak cased canteen of cutlery £10.00 - £20.00   | 415 | A set of 4 dining chairs £10.00 - £15.00                                       |
| 381 | A quantity of Wedgwood blue jasper ware £10.00 - £20.00                                       | 416 | A mahogany carver chair and 4 dining chairs £20.00 - £30.00                    |
| 382 | A light wood effect 2 door glazed cabinet £20.00 - £30.00                                     | 417 | A mahogany framed arm chair £20.00 - £30.00                                    |
|     |   | 418 | A quantity of Colclough tea ware £35.00 - £45.00                               |
|     |   | 419 | A mahogany drop leaf table on pad feet £20.00 -                                |

£30.00

- 420 A stained 2 over 3 chest of drawers £30.00 £40.00
- 421 2 Musical Widdicombe Fair tankards and 2 Widdicombe Fair jugs £20.00 £30.00
- 422 3 large Pendefin Houses, A pendelfin Bandstand, 4 rabbits and a piano £10.00 £20.00
- 423 A 9 piece Edwardian salon suite comprising Chaise Longue, Ladies chair, Gentleman's chair and 6 dining chairs £120.00 - £150.00
- 424 A gilt framed 19th century stable scene £10.00 £20.00
- 425 A vintage stainless steel butchers hanging meat rack £20.00 £30.00
- 426 A golf bag and golf clubs £20.00 £30.00
- 427 A modern display cabinet £20.00 £30.00
- 428 24 late 19th and early 20th century ceramic shaving mugs £20.00 £30.00
- 429 A treacle glazed art pottery jug £15.00 £20.00
- 430 A mahogany octagonal table on birdcage base £20.00 £30.00
- 431 A carved oak side table £10.00 £20.00
- 432 A small hall chandelier £20.00 £30.00
- 433 A chandelier style table lamp £15.00 £20.00
- 434 An oak bureau £20.00 £30.00
- 435 A mahogany drop leaf table on pad feet £20.00 £30.00
- 436 2 rugs £10.00 £20.00
- 437 A brass pot with elephant head handles and a Japanese coffee pot on stand £10.00 £20.00
- 438 A mahogany wine table £10.00 £20.00
- 439 An Egyptian cotton paisley pattern table cloth £10.00 £15.00
- 440 A golf trolley, golf bag and clubs £20.00 £30.00
- 441 A 2 fold mahogany and silk screen £10.00 £20.00
- 442 A small oak table £10.00 £20.00
- 443 A pair of modern rosewood tables £20.00 £30.00
- 444 An embosses brass log bin on lion paw feet £25.00 £35.00
- 445 An AA HPW110 high pressure washer £20.00 £30.00
- 446 4 Royal Doulton character jugs £10.00 £20.00
- 447 2 brass chestnut roasters and a brass milk skimmer £20.00 £30.00
- 448 A circular retro convector heater (sold as seen) £10.00 £20.00
- 449 A stained dresser back £20.00 £30.00
- 450 A 2 drawer wood effect filing cabinet £10.00 £20.00
- 451 A 1950's oak bureau book case £20.00 £30.00
- 452 7 pieces of Royal Doulton series ware £10.00 -

£20.00

- 453 Approximately 48 stacking chairs £10.00 £20.00
- 454 2 folding chairs £10.00 £20.00
- 455 6 retro folding chairs £20.00 £30.00
- 456 60 pieces of floral decorated tea and dinner ware (16 place settings) £40.00 £60.00
- 457 A modern book case £10.00 £15.00
- 458 A box of sporting trophies £10.00 £20.00
- 459 A pair of chandelier style wall lights £20.00 £30.00
- A silver plate teapot, water jug, dishes and ladles. £10.00 £20.00
- 461 A large pair of Satsuma vases £20.00 £30.00
- 462 A 19th century Prie Dieu chair with tapestry seat and back £40.00 £60.00
- An oval extending dining table with protective cover and a set of 8 brass inlaid dining chairs £80.00 £120.00
- 464 Approximately 23 pieces of Losel ware dinner ware including tureens £20.00 £30.00
- 465 A large box of lego £10.00 £20.00
- 466 A collection of late 1960's / early 1970's Beezer comics £10.00 £20.00
- 467 An Onieda King's pattern canteen of cutlery £20.00 £30.00
- 468 A very large quantity of glass marbles £20.00 £30.00
- A Caithness glass vase and 10 glass paperweights including Murano £20.00 £30.00
- 470 A quantity of West Highland Terrier figures £10.00 £20.00

7